I guru of networking

Can any guru of networking can help me with this problem please.

I Attached a document where I try to document in detail the problem.
So I attached a wireshark capture too.
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The problem That I observe when I review the capture in wireshark is that My laptop open a lot of
communication sockets with the SQL-Server.

Address A PortA  AddressB  PortB Packets Bytes Packets A->B Bytes A->B Packets A<-B Bytes A<-B  RelStart Duration bps A->B  bps A<-B

192.168.10.54 [ 1234 (192.168.3.247| 135 | 4 228 2 108 2 120 2,382014 | 0.0042 | 206550.32 | 229500.36
192.168.3.247[49155(192.168.10.54 | 1235 | 4 228 2 120 2 108 2.38222 | 0.0051 | 188235.29 | 169411.76
192.168.3.243 | 1433 (192.168.10.54 | 1237 | 15 | 2537 l 1505 8 1032 [19.163527 | 0.1071 | 112435.1 | 77098.35
192.168.3.243 | 1433 (192.168.10.54 | 1238 | 15 | 2537 I 1505 8 1032 | 19.269822 | 0.0187 | 644781.23 | 442135.7
192.168.3.243 | 1433 (192.168.10.54 | 1240 | 18 | 2934 8 1739 10 1195 |22.537431|30.2752 459.52 | 315.77
192.168.3.243 1433 (192.168.10.54 | 1242 | 19 [ 3125 9 1805 10 1320 | 24.435576 | 0.0234 | 616303.88 | 450704.23
192.168.3.243 1433 (192.168.10.54 | 1243 | 19 | 3900 9 2576 10 1324 | 24.497895| 0.037 |556807.44 | 286185.19
192.168.3.243 | 1433 |192.168.10.54| 1244 | 19 | 3161 9 1835 10 1326 | 24.573844 | 0.0225 | 653431.85 | 472180.18
192.168.3.243 1433 [192.168.10.54 | 1246 | 19 | 3122 9 1798 10 1324 | 58.517123| 0.0219 | 657434.07 | 484117.19
192.168.3.243 | 1433 (192.168.10.54 | 1245 | 65 | 46455 36 30437 29 7018 | 33.531713 | 251696 | 12534.82 | 2230.63
192.168.10.54 | 1121 {192.168.3.246 | 445 | 802 | 306670 3 70594 425 236076 | 8.298608 | 20.4286 | 27645.2 | 92449.32
192.168.3.243 | 1433 (192.168.10.54 | 1239 | 952 | 799456 597 759498 395 39958 [ 21.373787 | 39.139 | 155241.2 | 8167.41
192.168.3.243 | 1433 (192.168.10.54 | 1241 | 4879 (3238505 2948 3069990 1931 168515 | 22.928599 | 47.5594 | 516404.8 | 28346.01

If Run other application, this does not happen.
When I observe the wireshark I note this communication socket lost synchronization. Why.
The same problem if I use the wired network.



